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Get the most from this book



Everyone has to decide his or her own revision strategy, but it is essential to review your work, learn it and test your understanding. This Revision Guide will help you to do that in a planned way, topic by topic. Use this book as the cornerstone of your revision and don’t hesitate to write in it — personalise your notes and check your progress by ticking off each section as you revise.


Tick to track your progress


Use the revision planner on pages 4–6 to plan your revision, topic by topic. Tick each box when you have:





•  revised and understood a topic



•  tested yourself



•  practised the exam-style questions





You can also keep track of your revision by ticking off each topic heading in the book. You may find it helpful to add your own notes as you work through each topic.
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Features to help you succeed
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Expert tips


Throughout the book there are tips from the experts on how to maximise your chances.
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Typical mistakes


Advice is given on how to avoid the typical mistakes students often make.
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Definitions and key terms


Clear, concise definitions of essential key terms are provided on the page where they appear.


Key terms from the syllabus are highlighted in bold for you throughout the book.
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Questions and answers


Use the exam-style questions and answers to consolidate your revision and practise your exam skills.
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Now test yourself


These short, knowledge-based questions provide the first step in testing your learning. Answers are at the back of the book.
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Revision activities


The activities will help you to understand each topic in an interactive way.
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Countdown to my exams
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6–8 weeks to go





•  Start by looking at the syllabus — make sure you know exactly what material you need to revise and the style of the examination. Use the revision planner on pages 4–6 to familiarise yourself with the topics.



•  Organise your notes, making sure you have covered everything on the syllabus. The revision planner will help you to group your notes into topics.



•  Work out a realistic revision plan that will allow you time for relaxation. Set aside days and times for all the subjects that you need to study, and stick to your timetable.



•  Set yourself sensible targets. Break your revision down into focused sessions of around 40 minutes, divided by breaks. This Revision Guide organises the basic facts into short, memorable sections to make revising easier.
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4–6 weeks to go





•  Read through the relevant sections of this book and refer to the expert tips and key terms. Tick off the topics as you feel confident about them. Highlight those topics you find difficult and look at them again in detail.



•  Test your understanding of each topic by working through the ‘Now test yourself’ questions in the book. Look up the answers at the back of the book.



•  Make a note of any problem areas as you revise, and ask your teacher to go over these in class.



•  Look at past papers. They are one of the best ways to revise and practise your exam skills. Write or prepare planned answers to the exam-style questions provided in this book. Check your answers with your teacher.



•  Use the revision activities to try different revision methods. For example, you can make notes using mind maps, spider diagrams or flash cards.



•  Track your progress using the revision planner and give yourself a reward when you have achieved your target.
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1 week to go





•  Try to fit in at least one more timed practice of an entire past paper and seek feedback from your teacher, comparing your work closely with the mark scheme.



•  Check the revision planner to make sure you haven’t missed out any topics. Brush up on any areas of difficulty by talking them over with a friend or getting help from your teacher.



•  Attend any revision classes put on by your teacher. Remember, he or she is an expert at preparing people for examinations.
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The day before the examination





•  Flick through this Revision Guide for useful reminders, for example the expert tips and key terms.



•  Check the time and place of your examination.



•  Make sure you have everything you need — extra pens and pencils, tissues, a watch, bottled water, sweets.



•  Allow some time to relax and have an early night to ensure you are fresh and alert for the examinations.
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1 Recording financial information


Double-entry book-keeping


The double-entry system


The AS and A level examinations do not generally examine basic double-entry book-keeping methods of recording financial transactions. It is assumed that students sitting such examinations have already mastered these techniques. Most examination questions start after transactions using the double-entry system have been completed. However, some double-entry topics do occasionally appear in either AS or A level examinations.
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Expert tip


Use basic double-entry techniques as ‘workings’ when complex calculations are needed. Not only will you find this useful, but examiners can refer to your workings if there are errors in your final answer and you may be able to gain part marks.
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Journal entries


Transactions start their journey through the system with entries in one of the books of prime entry shown in Table 1.1.


Table 1.1 Books of prime entry
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Revision activity


Select a transaction from the following list, identify the source document and identify all the entries made in the business books of account. Your list should end with an entry in one of the financial statements.




  –  purchases for resale


  –  purchase of a non-current asset


  –  introduction of additional capital by the proprietor


  –  payment of wages by direct debit
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Now test yourself




  1 What is a personal account?







  2  (a)  Name two nominal accounts.







      (b)  In which ledger would you find nominal accounts?







  3  (a)  Explain why ledgers are divided into three parts.







      (b)  What are the names of each of the three parts?







  4 Name a source document used to prepare a cash book.


  5 List the books of prime entry.


  6 Which book of prime entry is also part of the double-entry system?





Answers on p.185
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Expert tip


If you find the use of the journal difficult, enter the data into ‘T’ accounts, then ask which ‘T’ account has been debited, which account has been credited. Place the debit entry in the debit column of the journal and the credit entry in the credit column. Don’t forget to include the description of the entries or a brief narrative (description) of why the entries are necessary.
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Techniques undertaken after a trial balance has been extracted


Provisions and reserves


A provision is an amount set aside out of profits for a known expense, the amount of which is uncertain.


A reserve is any amount set aside out of profits that is not a provision. Reserves are made at the discretion of the directors of a limited company.
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Expert tip


Increases to provisions are expenses in an income statement. Decreases increase the gross profit of a business. The balance on a provision account reduces the value of an asset in a statement of financial position. Transfers to reserves do not affect the profit from operations.
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Bad debts


There will always be some credit customers who will not or cannot pay the money they owe. These trade debtors cannot remain in the sales ledger, otherwise the amount of trade receivables, current assets, total assets and therefore capital will be overstated. The balances in the accounts of debtors who are known to be unable to settle their debt are transferred to a bad debts account in the general ledger.


At the end of the financial year the bad debts account is closed, along with all other nominal accounts in the general ledger, by entering the total amount in the income statement.


Provision for doubtful debts


As well as actual bad debts, there might be other outstanding debts that could prove to be bad in the future. A provision for doubtful debts is an amount set aside out of profits to cover debts whose recovery is in doubt.


The amount of the provision is calculated in two ways:





•  an estimation based on past experience of receivables as a whole, or experience based on knowledge of individual debtors. For example, a trader may know from past experience that 2% of receivables will not pay. The provision would be calculated at 2% of receivables at the year end



•  using an age profile of trade receivables. All outstanding debts are categorised according to the time they have been outstanding. The longer a debt is outstanding, the more likely it is to prove bad. An ageing schedule for doubtful debts may look as follows:
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Expert tip


You may sometimes see a provision for doubtful debts described as a provision for bad debts.
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The credit balance shown in the provision account in the general ledger at the year end would be $1100.


An entry in a statement of financial position would show:






	 

	$

	$






	Current assets

	 

	 






	Trade receivables

	52 600

	 






	
Less provision for doubtful debts

	  1100

	51500
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Example


Thaof wishes to make provision for doubtful debts as follows:


year 1 $200      year 2 $700      year 3 $400


The amounts would be calculated using one of the methods outlined above. The provision for doubtful debts for each of the 3 years would look like this:


Provision for doubtful debts account
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Expert tip


Only the increase or decrease in the provision is entered in the income statement. The balance carried down each year is deducted from the total of trade receivables, shown as a current liability.
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Now test yourself




  7 A trade receivable is unable to pay an outstanding balance of $500. What are the ledger entries to record this event?


  8 The opening balance on the provision for doubtful debts account was $820. Trade receivables at the financial year end totalled $25 500. A provision of 3% is to be made.







    (a)  Calculate the closing balance on the provision account.


    (b)  What is the required double entry to account for the change in provision?





Answers on p.185
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Capital and revenue incomes and expenditures


The distinction


It is important that you can distinguish between capital and revenue incomes and expenditures. The distinction is necessary to ensure the accuracy of different parts of financial statements.


Capital expenditure is money spent on the acquisition of non-current assets or their improvement.


Revenue expenditure is money spent on the everyday running costs of a business.


Capital income is derived from selling non-current assets or from an injection of capital into the business by a provider of funds (e.g. a bank) or by the owner(s).


Revenue income is monies received from the normal activities of the business.
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Now test yourself




  9  (a)  Explain the difference between capital expenditure and revenue expenditure.







      (b)  Why is important to distinguish between capital expenditure and revenue expenditure?







  10 Which of the following transactions is classified as capital income for a general store?







      Monies received from:


      –  the sales of fruit


      –  a further injection of capital by the trader


      –  the sale of a delivery vehicle that is no longer needed


      –  the sale of flour





Answers on p.185
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Typical mistake


Students often categorise the costs of maintenance of a non-current asset as being capital expenditure. Maintenance costs are revenue expenditure, as are vehicle servicing costs. These costs do not improve the non-current asset; the servicing or maintenance merely ensures that the asset functions effectively.
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Provision for depreciation of non-current assets


The purchase of a non-current asset is capital expenditure. Its purchase is expected to yield benefits to the business over a number of years. The accruals concept states that all expenses used in a particular time period should be matched with the revenues that the expenditure has helped to generate.


A non-current asset will be used to generate profits over a number of years; the cost of that asset must be spread over the time that it is used (depreciation).


All non-current assets, with the exception of freehold land, should be depreciated. You should be able to use the three methods of depreciating non-current assets. These are dealt with in more detail in Topic 9, Depreciation (see pp. 65–67). All the methods use the same method of recording in the financial statements of a business; only the amount recorded will change.
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Typical mistake


Students sometimes state that depreciation is the decrease in the value of an asset. However, some assets may go up in value over time; they must also be depreciated since they are used to generate benefits to the business.
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Example


The cost of a non-current asset was $37 500; accumulated depreciation to 31 December 2012 was $14 000; depreciation for the year ended 31 December 2013 has been calculated at $2300. The entries shown in the financial statements would be as follows.








Income statement for the year ended 31 December 2013






	 

	$






	Expenses

	 






	    Provision for depreciation of non-current assets

	2300







Statement of financial position at 31 December 2013






	 

	$

	$






	
Non-current assets at cost

	37 500

	 






	
Less depreciation

	16 300

	21 200







Disposal and revaluation of non-current assets are dealt with later in Topic 9, Depreciation (see pp. 67–68).
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Now test yourself





11   Which accounting concept is used when providing depreciation of a non-current asset?



12   Identify a non-current asset that is not depreciated.



13   Identify three methods of depreciating non-current assets.





Answers on p.185
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The treatment of assets, liabilities and equity


Current assets


After the preparation of an income statement the only balances remaining in the books of account will be those relating to real accounts (i.e. asset and liability accounts).


Balances in a sales ledger show amounts owed by credit customers. These are totalled and will appear as a current asset — trade receivables.


Any other amounts owed appear under the heading of ‘other payables’.


Current liabilities


Short-term liabilities remaining in the general ledger after an income statement has been prepared appear in a statement of financial position as current liabilities. Examples include trade and other payables.


Non-current liabilities


Non-current liabilities are amounts owed that only need to be repaid after more than 1 year. They are shown in a statement of financial position under a separate heading of ‘non-current liabilities’. Examples could include a mortgage repayable in 2035 or a bank loan to be repaid in 2021.



Equity and reserves



Equity is the term used to describe the investment that the owners have in a business. It is usually applied to the permanent share capital of a limited company plus all the reserves that the company has.
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Typical mistake


Students often refer to reserves as ‘cash set aside for future use’. Reserves are not some form of savings that can be drawn on if a business needs them in the future. They are past profits held back in the company.
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Now test yourself





14   Using assets, liabilities and equity, write the accounting equation.





Answer on p.185
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2 Accounting principles



Principles, concepts and conventions


Our everyday life is governed by rules. All actions in accounting are also governed by rules. These rules are known as accounting concepts. The application of these basic rules ensures that a set of financial statements prepared in Segamat will be prepared using the same procedures as those used to prepare a set of statements in Shahcheng. Judgements and comparisons between sets of accounting statements can be made, safe in the knowledge that the same rules have been applied in their preparation. You will already have applied some of these principles in your studies so far.
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Expert tip


It is important to learn the concepts described below. Learn an example of how each is applied when preparing a set of financial statements.
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Going concern


When financial statements are prepared, there is an assumption that the business will continue to operate in its present form for the foreseeable future. This means that assets shown in a statement of financial position are valued at cost not what they would fetch if they were to be sold. If the business is to continue trading, the assets will be required and will not be sold. Therefore, the sale value is of little interest as far as the preparation of a statement of financial position is concerned.


Matching


Matching is sometimes referred to as the accruals concept. The value of resources used to run a business is recorded rather than a record of the cash paid to acquire the resources. For example, raw materials used in June cost $4000. The materials are paid for in August. The $4000 will feature in the financial statements for June.


Other payables


The value of all resources is recorded in the time period when they are used. Goods and services (other than purchases and sales), such as advertising expenditure, insurances and wages, are recorded when the resource is used rather than when payments are made.


Other receivables


The matching principle also applies to incomes and other benefits. The right to receive the benefit is recorded rather than the receipt of cash. Profit is normally recognised when the title passes from the seller to the customer, not when the cash resulting from the transaction is paid.


Certain resources, such as insurance, are paid for before the resource can be used.



Consistency



When calculating provisions for doubtful debts or depreciation, or when valuing inventories, a variety of methods may be used. Each time a different method is used to calculate depreciation or a value for inventory, a different profit figure is arrived at. This means that it is difficult to make comparisons between different years or different businesses if different methods are used each year. It is also difficult to determine whether profits have increased or decreased because of the level of business activity or because of a change in methods of calculation.


Once a business adopts a way of recording financial transactions, it should continue to use the same methods or policy in future years in order to allow valid comparisons to be made.


Materiality


Capital expenditure is spending on non-current assets or their improvement. Revenue expenditure is spending on the everyday running costs of a business. Non-current assets last for more than 1 financial year. If the accruals concept is applied rigidly, the cost of all non-current assets should be spread over the time that the non-current asset is used to generate profits. However, some items — which technically should be classified as non-current assets — are treated as revenue expenditure. For example, a calculator is purchased for use in an office. The calculator cost $2.99 and it is estimated that it will be used for 5 years. As a non-current asset, the calculator should appear in a statement of financial position; it should be depreciated; the depreciation should be charged each year to an income statement. To do this would not be worth the time or the effort involved. The $2.99 is therefore treated as revenue expenditure and included as office expenses or sundry expenses in an income statement.


Aggregation


Similar assets can be grouped together for presentation in a statement of financial position. Different groups of non-financial assets must be shown separately.


Offsetting


As a rule, it is not permitted to offset assets against liabilities or vice versa. For example, if premises cost $100 000 and their purchase was partly financed with a long-term bank loan of $44 000, it would not be permissible to show premises at $56 000 in a statement of financial position. Premises should be shown at a cost of $100 000 under the heading ‘Non-current assets’. The loan would be classified separately under ‘Non-current liabilities’.


Neither would it be acceptable to show a net figure if a business had a bank overdraft as well as a positive figure for cash and cash equivalents.


Comparative information


Limited companies must show figures from previous financial statements. This enables the users of the statements to make comparisons regarding performance.



The importance of a true and fair view



A major principle in the production of financial statements is that they should show a true and fair view. The financial statements should reflect the performance of the business; they should show the financial position and any changes to that position. This should be achieved if the qualitative characteristics of understandability, relevance, reliability and comparability are applied.


Prudence


Revenues and profits should only be included in financial statements when they are realised or when realisation is reasonably certain. This prevents profits from being overstated. If profits are overstated, a trader may make excessive drawings or a limited company may pay excessive dividends, which deprives the business of valuable resources. However, the concept does allow provisions to be made for expenses or losses when they become known.


Substance over form


This principle ensures that financial statements are prepared using the substance of transactions rather than their legal form. For example, a haulage business acquires five new vehicles using hire purchase. Legally, the vehicles are owned by the finance company; ownership passes to the haulage company only when the final instalment is paid. However, from a commercial point of view the vehicles have been purchased with a loan and this is how the transaction is recorded in the books of account. In a statement of financial position, the vehicles would appear as non-current assets while the outstanding amount due to the finance company would appear as a non-current liability (or a current liability if there was less than 1 year’s repayments left to make).


Other features of the recording system


Business entity


Only transactions involving the affairs of the business are recorded in the business books of account. Private incomes and expenditure do not affect business profits. The private affairs of a trader are not recorded as part of the business activity. Any private incomes included in the business books of account are regarded as capital introduced and any private expenditures are entered as drawings.


Historical cost


All financial transactions are recorded using actual cost. The advantages of using historical cost as a basis for the preparation of financial statements include that it is:





•  objective



•  easily understood



•  easily applied to the double-entry system of book-keeping



•  fairly straightforward for auditors to verify transactions through source documents



•  recognised by most tax authorities






Duality



Duality ensures that the assets of a company are recorded, along with the claims against the business. This is manifested in the application of the double-entry book-keeping system and the accounting equation.
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Expert tip


Double-entry book-keeping involves entering each financial transaction twice; this recognises that a business both gives and receives value.
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Revaluation


On acquisition, non-current assets should be recorded in the general ledger at cost. However, during their lifetime non-current assets should be revalued on a regular basis to ensure that the carrying amount is not materially different from the value that the asset would sell for at the date when a statement of financial position is prepared.
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Revision activity


With a partner, one person should name an accounting concept. The other gives an explanation of the concept and an example of its use. Change places and repeat until all concepts have been covered.
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Now test yourself




  1 Explain the term going concern.


  2 After extracting a trial balance for the year ended 31 December 2013







    (a)  There is a debit balance of $3500 on the telephone account and an unpaid bill covering the quarter to 28 February 2014 of $600. How much should be entered on an income statement for this expense?


    (b)  There is a debit balance of $3000 on the insurance account. There is only one payment made during the year and it covers the 15-month period ending on 31 March 2014. How much should be entered in an income statement for this expense?







  3 A business depreciates its non-current assets in year 1 using the straight-line method of depreciation. In year 2 it uses the reducing balance method. It then starts to use to the straight-line method in year 3. Which accounting concept is being ignored?


  4 A business has trade receivables of $100 000 at its financial year end. There are no irrecoverable debts, but for the past 3 years 2% of its receivables have not been received. The business shows $100 000 as a current asset in its statement of financial position.







    (a)  Which accounting concept is being ignored?


    (b)  State the correct amount.







  5 What do you understand by the business entity concept?





Answers on p.185
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3 Control systems



The trial balance


What is a trial balance?


At the end of an accounting period, ledger accounts are balanced and the balance carried down to start the ‘new’ accounting period.
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Expert tip


A debit balance appears on the debit side of the account at the start of the new time period; a credit balance is shown on the credit side of the account at the start of the new time period.
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The trial balance is a summary of all the debit and credit balances shown in the ledgers on the date that the trial balance has been extracted. It checks the accuracy of all entries in the ledgers.


Even if a trial balance ‘balances’ and the debit column casts to the same amount as the credit column, this is no guarantee that the double-entry system is free of errors. This merely confirms that every debit entry in the ledgers has a corresponding credit entry.


The trial balance has only one function: to test the arithmetic accuracy of the whole double-entry system. It is also a convenient list from which financial statements can be prepared.
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Expert tip


Most trial balances have more entries in the debit column than in the credit column. Debit balances are either assets or expenses. Credit balances are either liabilities, incomes or benefits.
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Revision activity


Make up a mnemonic to remember the components of debit and credit balances.
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Now test yourself




  1 The debit side of an account totals $230 and the credit side totals $360. What is the amount shown in the trial balance and is this a debit or a credit entry?


  2 What is the main function of preparing a trial balance?


  3 On which side of the trial balance would you expect to find the following balances: motor vehicles; returns outwards; carriage inwards; carriage outwards; sales; discounts received.





Answers on p.185
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Types of error not revealed by the trial balance


Six types of error are not revealed by extracting the trial balance:





•  Commission — the correct amount is entered on the correct side of an incorrect account of the same class. For example, rent debited to the local taxes account.



•  Reversal of entries — entries are made on the wrong side of both accounts. For example, cash sales debited to sales account and credited to cash account.



•  Omission — there is no record of a transaction in the system. For example, goods are purchased and the supplier’s invoice is mistakenly destroyed before the transaction has been entered in the purchases book.


  •  Principle — a transaction is entered in the wrong class of account. For example, vehicle repairs are entered as capital expenditure in a vehicles account.



•  Original entry — an incorrect amount is entered in the book of prime entry. For example, a purchase invoice for $345 is entered in the purchases book as $435.



•  Compensating errors cancel each other out. For example, the debit side of one (or more) account(s) is overcast by $1000; other totally unrelated accounts have credits that are also overcast by $1000.
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Expert tip


Use the mnemonic ‘CROPOC’ to help you remember the six types of error not revealed by extracting the trial balance.
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Now test yourself




  4 Explain why a trial balance that ‘balances’ may not necessarily be free of errors.


  5 List the six types of error that are not revealed by the trial balance.


  6 Explain the difference between an error of commission and an error of principle.





Answers on p.185
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Typical mistake


Students are often unclear about the difference between an error of commission and an error of principle. An error of commission does not affect profits or the accuracy of information shown in a statement of financial position. An error of principle does have an effect on profits and affects the accuracy of information shown in a statement of financial position.
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Suspense accounts


If a set of financial statements is prepared from a trial balance whose column totals fail to agree, the financial statements cannot possibly be correct as they will not balance. If the trial balance totals do not agree, the difference in the two totals is entered in a temporary account known as a suspense account. It is held in this account until the errors that caused the difference are located and corrected.
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Expert tip


When the errors in the ledger accounts in an examination question are corrected, the trial balance will balance.
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If the total of the debit column of a trial balance is smaller than the total of the credit column, an amount is entered in the debit column to make the two totals equal. This amount is described as ‘suspense account’. If the credit column is smaller, the amount for ‘suspense account’ appears in the credit column.
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Typical mistake


Sometimes a transaction has no effect on the answer to a question. You must inform the examiner of this point. If you don’t, the examiner cannot tell whether you have omitted the transaction deliberately because it is the correct treatment or because you do not know what any effect might be.
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If a suspense account balance is seen in a trial balance, there must be a ledger account to correspond with this item.





•  A suspense account is opened in the general ledger.



•  A debit ‘balance’ shown in the trial balance should be entered on the debit side of the suspense account in the ledger.



•  A credit ‘balance’ shown in the trial balance should be entered on the credit side of the suspense account in the ledger.





The inclusion of a suspense account allows a set of financial statements to be prepared. We can be certain that provided we do not make further errors, these statements will balance.


When all the corrected errors are entered in a suspense account, the original error on the trial balance should be eliminated.


Questions involving errors and suspense accounts are sometimes linked with journal entries. Generally, errors that occur in the double-entry system will affect financial statements. Errors that affect the trading section of an income statement will affect gross profit and profit for the year. Errors that affect the profit and loss section of an income statement will only affect the profit for the year. Changes to the profit for the year will also affect net assets shown in a statement of financial position as any change in profits affects capital (net assets).


When errors are discovered:





•  corrections should be journalised



•  ledger accounts should be corrected



•  gross profit should be adjusted



•  profit for the year should be adjusted



•  changes to items in a statement of financial position should be made
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Now test yourself




  7 A trial balance has debit balances totalling $147 000 and credit balances of $149 000. Despite further checks, you are unable to find the error(s). Which account would you open and which posting would you make before proceeding further?


  8 Identify the type of error involved in each of the following cases.







    (a)  Returns outwards have been credited to the purchases account.


    (b)  Purchase of a stapling machine costing $5.68 has been ignored because it is such a small amount.


    (c)  A credit sale to Sanji has been debited to the account of S.Anji.







  9 The following errors have been discovered after the preparation of a trial balance. Show the journal entries necessary to correct these two errors.







    (a)  Purchases of $123 from Wong have been debited to his account.


    (b)  Rent receivable of $500 has been debited to rent payable account as $50.





Answers on p.185
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Bank reconciliations


Bank reconciliation statements


Most businesses have a current account with a bank. The owner of a business records transactions using the bank columns in a cash book. The source documents they use include cheque counterfoils and counterfoils from a paying-in book.


The bank also records the same transactions in its ledger. The source documents used by the bank are the actual cheques and paying-in slips used by the trader. A copy of the trader’s account as it appears in the bank’s ledger is available to the trader either online or as a paper document (a bank statement).


When a bank statement is received, the trader compares the entries shown on this copy of the bank’s ledger account with the entries shown in the bank columns of their cash book.
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Expert tip


The balance at bank shown in a trader’s cash book is the balance used in a trial balance. It is also the balance shown in a statement of financial position.





[image: ]





A bank reconciliation statement is prepared by the trader on a regular basis to check the accuracy of the entries made in the bank columns of the cash book. It checks that the business’s record of transactions using the bank account agrees with the record kept in the bank’s ledger.
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Typical mistake


A debit balance in the bank columns of a cash book shows money in the bank; a credit balance means that the business is overdrawn. A debit balance shown on a bank statement indicates a bank overdraft; a credit balance means money in the bank.
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The balance shown in a trader’s cash book may not be the same as that shown on a bank statement because:





•  the trader’s lack of knowledge regarding bank charges; overdraft interest; counter credits and credit transfers; dishonoured cheques etc.



•  timing differences — for example, when a trader writes a cheque an entry is made in the cash book immediately, but the bank does not record the transaction until the cheque is presented for payment, which may be a few days later. An entry is made in the cash book when money is paid into a bank account, but the bank may not credit its records until some days later.






Bank reconciliation questions



Answers to bank reconciliation questions usually require two parts:





•  recording items appearing in a bank statement that have not been entered in the cash book



•  preparing the actual reconciliation statement





Answering a question





•  Balance the bank columns of the cash book and carry the balance down.



•  Compare the debit entries in the bank columns of the cash book with the credit entries shown on the bank statement. Compare the credit entries in the bank columns of the cash book with the debit entries on the bank statement.



•  Update the cash book by entering in the bank columns:







  –  on the credit side of the cash book, any payments made by the bank not entered in the cash book


  –  on the debit side of the cash book, any amounts received by the bank not entered in the cash book








•  Correct any errors in the bank columns of the cash book (the entries in the bank statement are always assumed to be correct).



•  Prepare the reconciliation statement using the following format (amounts are used for illustration purposes).





Name of business. Bank reconciliation statement at 31 December 2013






	 

	$  

	$  






	Balance at bank as per cash book

	 

	678






	
Add unpresented cheques


	 

	 






	   Cheque number 218

	67

	 






	   Cheque number 221

	497

	 






	   Cheque number 239

	181

	745






	 

	 

	1423






	
Less lodgements not yet presented

	 

	839






	Balance at bank as per bank statement

	 

	584







Some questions give a balance at bank according to a bank statement and require you to ‘work back’ to show a cash book balance. The workings would then be as follows.






	 

	 

	$  






	Balance at bank as per bank statement

	 

	584






	
Less unpresented cheques

	 

	745






	 

	 

	(161)






	
Add lodgements not yet presented

	 

	839






	Balance at bank as per cash book

	 

	678
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Revision activity


Bank statements are sometimes used as a source document. List four items that appear in a bank statement that may not be entered in a trader’s cash book. State how each should be entered in the cash book.
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Expert tip


Learn the layout of a bank reconciliation statement and always use a heading. If there is more than one unpresented cheque, list them in your statement — if you add them on your calculator and make a mistake, the examiner cannot award any part marks that may be available.
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Now test yourself





10   Explain why a trader would prepare a bank reconciliation statement.



11   How often should a trader prepare a bank reconciliation statement?



12   Explain the difference between a standing order and a direct debit.



13   Explain the term lodgement.



14   ‘When preparing a bank reconciliation statement, unpresented cheques must always be entered in the trader’s cash book.’ Is this statement true or false?



15   A cash book shows an entry for cheque number 2975 as $32.78. The bank statement shows the entry for cheque number 2975 as $23.78. Which amount is deemed to be correct?



16   Explain why the balance in a cash book at the financial year end may be different to that shown on a bank statement at the same date.



17   List the steps that you would take to produce a bank reconciliation statement at a financial year end.
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Control accounts


What are control accounts?


Separate ledger accounts are kept for each credit customer and each credit supplier. The accounts show how much is owed by each credit customer and each credit supplier at any one time.


In a business making large numbers of credit transactions, it is possible that errors may occur. Before any financial statements are prepared, control accounts should be prepared to check the accuracy of the personal ledgers. Control accounts contain all the entries that are made in personal ledgers. In large businesses, the number of credit transactions will be high. Large businesses could have many sales and purchases ledgers, so a control account is prepared for each individual ledger.


Control accounts are prepared using totals from books of prime entry. The control accounts can be part of the double-entry system or they may be kept for memorandum purposes only. Sales and purchases ledgers and their control accounts cannot both be part of a double-entry system as this would be a duplication of the same data. Most businesses keep control accounts in the general ledger as part of their double-entry system. These control accounts are said to be ‘integrated’.
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Expert tip


Control accounts are prepared in the same way whether they are part of the double-entry system or whether they are kept for memorandum purposes.
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